Zeitschrift:	IABSE publications = Mémoires AIPC = IVBH Abhandlungen
Band:	30 (1970)
Artikel:	Static parameters of beams on plastic foundation
Autor:	Tuma, J.J. / Alberti, G.
DOI:	https://doi.org/10.5169/seals-23587

Nutzungsbedingungen

Die ETH-Bibliothek ist die Anbieterin der digitalisierten Zeitschriften auf E-Periodica. Sie besitzt keine Urheberrechte an den Zeitschriften und ist nicht verantwortlich für deren Inhalte. Die Rechte liegen in der Regel bei den Herausgebern beziehungsweise den externen Rechteinhabern. Das Veröffentlichen von Bildern in Print- und Online-Publikationen sowie auf Social Media-Kanälen oder Webseiten ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. <u>Mehr erfahren</u>

Conditions d'utilisation

L'ETH Library est le fournisseur des revues numérisées. Elle ne détient aucun droit d'auteur sur les revues et n'est pas responsable de leur contenu. En règle générale, les droits sont détenus par les éditeurs ou les détenteurs de droits externes. La reproduction d'images dans des publications imprimées ou en ligne ainsi que sur des canaux de médias sociaux ou des sites web n'est autorisée qu'avec l'accord préalable des détenteurs des droits. <u>En savoir plus</u>

Terms of use

The ETH Library is the provider of the digitised journals. It does not own any copyrights to the journals and is not responsible for their content. The rights usually lie with the publishers or the external rights holders. Publishing images in print and online publications, as well as on social media channels or websites, is only permitted with the prior consent of the rights holders. <u>Find out more</u>

Download PDF: 20.08.2025

ETH-Bibliothek Zürich, E-Periodica, https://www.e-periodica.ch

Static Parameters of Beams on Elastic Foundation

Paramètres statiques pour des poutres sur fondation élastique

Statische Parameter von Balken auf elastischer Unterlage

J. J. TUMA

Prof. of Civil Engineering, Oklahoma State University, Stillwater, Oklahoma, U.S.A. G. ALBERTI

Research Associate, Institut für Baustatik, Federal Institute of Technology, Zürich, Switzerland

Introduction

The analysis of beams resting on elastic foundation has been developed during the second half of the past century by WINKLER [1], ZIMMERMANN [2], and SCHWEDLER [3]. HAYASHI [4] extended this type of analysis to frames and prepared a set of tables [5] facilitating the numerical calculations. New developments in this area have been initiated by UMANSKY [6], FILONENKO-BORODIC [7], and HETENEYI [8], designated as the method of initial parameters, and the method of end conditioning, respectively.

The method of initial parameters [6] forms the basis for the development of the transport matrix as shown in works of PESTEL [9], KERSTEN [10], PETERSEN [11], and others. The same approach in equation form has been introduced by BAŽANT [12] and recently restated by MIRANDA and NAIR [13].

The relationship between the transport matrix method, the flexibility method, and the stiffness method applied to the analysis of beams on elastic foundation is shown in this paper. The study is restricted to coplanar systems, consisting of straight members of constant cross-section, subjected to causes developing bending about the principal axis, normal to the system's plane. It is assumed that the material of the structure follows Hooke's law, the foundation is linearly elastic, and all deformations are small. The effect of shear and axial forces is considered negligible, but if desired adjustments may be made for these effects. The modulus of elasticity of the structure, and of the foundation are assumed to be known, and no uncertainty exists in this respect.

Sign conventions are those typical for each of the methods mentioned.

Letter symbols adopted for use in this paper are defined where they first appear, and they are arranged alphabetically in the appendix.

Differential Equation

A finite, straight bar of constant cross-section with loads, and end conditions shown in Fig. 1, is supported along its entire length l by elastic foundation of modulus k. End vectors $\delta =$ deflection, $\theta =$ slope, M = bending moment, V =shear, identified by L-, and R-subscripts, for the left, and the right end, respectively, form the corresponding state vectors.

$$[H_L] = \begin{bmatrix} \Delta_L \\ \sigma_L \end{bmatrix} = \begin{bmatrix} \delta_L \\ \Theta_L \\ M_L \\ V_L \end{bmatrix}, \qquad [H_R] = \begin{bmatrix} \Delta_R \\ \sigma_R \end{bmatrix} = \begin{bmatrix} \delta_R \\ \Theta_R \\ M_R \\ V_R \end{bmatrix}.$$
(1)

The geometry of the beam, and its elastic curve are defined by Fig. 1.



Fig. 1. Finite Beam, Elastic Foundation.

The governing differential equation in this case is:

$$EI\frac{d^{4}\delta(x)}{dx^{4}} + k\delta(x) = p(x), \qquad (2)$$

in which E = beam modulus of elasticity, I = moment of inertia of the beam's cross-section, x = position coordinate, measured from L along X_L , $\delta(x)$ = deflextion at x, measured along Y_L from the initial axial of the beam, $\theta(x)$ = slope of elastic curve at the same section, and p(x) = intensity of load at x.

The general solution of Eq. (2) consists of two parts,

$$\delta(u) = S(u) + L(u), \qquad (3)$$

$$S(u) = A \cdot a(u) + B \cdot b(u) + C \cdot c(u) + D \cdot d(u)$$
(3a)

in which

is the shape function, representing the solution of the homogeneous Eq. (2), and u

$$L(u) = \frac{4}{k} \int_{0}^{u} d(u-v) \cdot p(v) \cdot dv$$
(3b)

is the load function, representing the particular integral (Fig. 2).



Fig. 2. General Load in Term of u and v.

New variables $u = \lambda x, \quad v = \lambda z$ (4) are functions of $\lambda = \sqrt[4]{\frac{k}{4 EI}}$. (5)

The analytical expressions of a(u), b(u), c(u), d(u) are recorded in Table 1, and designated as the static parameters. They possess certain cyclometric,

Table 1. Static Parameters

$a(\lambda x) = \cosh(\lambda x)\cos(\lambda x)$	$a\left(0\right)=1$	$a(\lambda l) = a$
$b(\lambda x) = \frac{\cosh(\lambda x)\sin(\lambda x) + \sinh(\lambda x)\cos(\lambda x)}{2}$	$b\left(0\right)=0$	$b(\lambda l) = b$
$c(\lambda x) = rac{\sinh(\lambda x)\sin(\lambda x)}{2}$	$c\left(0\right) = 0$	$c (\lambda l) = c$
$d(\lambda x) = \frac{\cosh(\lambda x)\sin(\lambda x) - \sinh(\lambda x)\cos(\lambda x)}{4}$	$d\left(0\right)=0$	$d\left(\lambda l\right)=d$

Table 2. Boundary Values

$S(0) = A_L = \bar{\delta}_L$	$S(\lambda l) = A_R = \overline{\delta}_R$	$L(\lambda l) = \overline{L}_{RL}$
$S'(0) = \lambda B_L = \lambda \overline{\Theta}_L$	$S'(\lambda l) = \lambda B_R = \lambda \overline{\Theta}_R$	$L'(\lambda l) = \lambda \overline{L}'_{RL}$
$S''(0) = \lambda^2 C_L = \lambda^2 \overline{M}_L$	$S''(\lambda l) = \lambda^2 C_R = \lambda^2 \overline{M}_R$	$L''\left(\lambdal ight)=\lambda^2ar{L}''_{RL}$
$S'''(0) = \lambda^3 D_L = \lambda^3 \overline{V}_L$	$S'''(\lambda l) = \lambda^3 D_R = \lambda^3 \overline{V}_R$	$L'''\left(\lambdal ight)=\lambda^{3}ar{L}''_{RL}$

 $\mathbf{249}$

and cycloantimetric characteristics, useful in the evaluation of constants A, B, C, D. Since these constants two major values, depending of x (x = 0, x = l), the subscript L, or R, is used respectively as shown in Table 2. Similar is the handling of L(u), and its derivates in the same table. Some special values of L(u) are given in Table 3.

		······································
$ \begin{array}{c} $	$u = 0$ $0 < u < \overline{\lambda}$ $u = \overline{\lambda}$	$L(0) = 0 \qquad (\bar{\lambda} = \lambda l)$ $L(u) = \frac{p l^4}{4 E I} \frac{[1 - a(u)]}{\bar{\lambda}^4}$ $L(\bar{\lambda}) = \frac{p l^4}{4 E I} \frac{[1 - a]}{\bar{\lambda}^4}$
$(L) \xrightarrow{P_n} (R)$	$u < \lambda m$ $\lambda m < u < \overline{\lambda}$ $u = \overline{\lambda}$	$L(0) = 0 \qquad (\bar{\lambda} = \lambda l)$ $L(u) = \frac{P l^3}{E I} \frac{d(u - \lambda m)}{\bar{\lambda}^3}$ $L(\bar{\lambda}) = \frac{P l^3}{E I} \frac{d(\lambda n)}{\bar{\lambda}^3}$
$ \begin{array}{c} $	$u < \lambda m$ $\lambda m < u < \overline{\lambda}$ $u = \overline{\lambda}$	$L(u) = 0 \qquad (\bar{\lambda} = \lambda l)$ $L(u) = \frac{-Q l^2}{E I} \frac{c (u - \lambda m)}{\bar{\lambda}^2}$ $L(\bar{\lambda}) = \frac{-Q l^2}{E I} \frac{c (\lambda n)}{\bar{\lambda}^2}$
$(L) \xrightarrow{x = U/\lambda} (R)$	$u = 0$ $0 < u < \overline{\lambda}$ $u = \overline{\lambda}$	$L(0) = 0 \qquad (\bar{\lambda} = \lambda l)$ $L(u) = \frac{p l^4}{4 E I} \frac{[u - b(u)]}{\bar{\lambda}^5}$ $L(\bar{\lambda}) = \frac{p l^4}{4 E I} \frac{[\bar{\lambda} - b]}{\bar{\lambda}^5}$
$ \begin{array}{c} $	$u < \lambda m$ $\lambda m < u < \overline{\lambda}$ $u = \overline{\lambda}$	$L(u) = 0 \qquad (\bar{\lambda} = \lambda l)$ $L(u) = \frac{p l^4}{4 E I} \frac{[1 - a (u - \lambda m)]}{\bar{\lambda}^4}$ $L(\bar{\lambda}) = \frac{p l^4}{4 E I} \frac{[1 - a (\lambda n)]}{\bar{\lambda}^4}$

Table 3. Special Values of L(u)

Transport Matrix

With results of Tables 1 and 2, the relationship between the equivalent vectors \overline{H}_R and \overline{H}_L becomes

$$\overline{H}_R = \overline{t}_{RL}\overline{H}_L + \overline{t}_{RL}, \qquad \overline{H}_L = \overline{t}_{LR}\overline{H}_R + \overline{t}_{LR}.$$
(6)

The first algebraic form Eqs. (6) is developed in Table 4, and converted into the second one, in the same table.

$$\hat{\bar{H}}_R = \hat{\bar{t}}_{RL} \hat{\bar{H}}_L, \qquad \hat{\bar{H}}_L = \hat{\bar{t}}_{LR} \hat{\bar{H}}_R.$$
(7)

 t_{RL} , t_{LR} are the transport matrices of a loadless segment, and t_{RL} , t_{LR} are the transport matrices, including the effect of loads in span LR. All matrices in Eqs. (6) and (7) are dimensionless, and possess following characteristics:

a) Inverse relationships

$$\bar{t}_{RL}\bar{t}_{LR} = [I], \qquad \hat{t}_{RL}\hat{t}_{LR} = [I],$$
(8)

b) shift relationships

$$\bar{l}_{RL} = -\bar{t}_{RL}\bar{l}_{LR}, \qquad \hat{\bar{l}}_{LR} = -\hat{\bar{t}}_{LR}\hat{\bar{l}}_{RL},$$
(9)

thus $\bar{t}_{LR}(\hat{t}_{LR})$ is the inverse of $\bar{t}_{RL}(\hat{t}_{RL})$, obtained from $\bar{t}_{RL}(\hat{t}_{RL})$ by changing the signs of b, and d; similarly, \bar{l}_{LR} is obtained from \bar{l}_{RL} by premultiplication. Once \bar{t}_{RL} -constants, and \bar{l}_{RL} -constants are known, Eqs. (6) and (7) are defined.

The relationship between the equivalent, state vectors $\overline{H}_R(\overline{H}_R)$, $\overline{H}_L(\overline{H}_L)$ and their absolute counterparts, or vice verse, is given by means of the scaling matrix $\lambda(\hat{\lambda})$, or the dimensioning matrix $\kappa(\hat{\kappa})$.

$$H_{R} = \lambda_{H} H_{R}, \qquad H_{L} = \lambda_{H} H_{L}, \qquad (10)$$
$$H_{R} = \kappa_{H} \overline{H}_{R}, \qquad H_{L} = \kappa_{H} \overline{H}_{L},$$

$$\hat{H}_{R} = \hat{\lambda}_{H} \hat{H}_{R}, \qquad \hat{H}_{L} = \hat{\lambda}_{H} \hat{H}_{L}, \\ \hat{H}_{R} = \hat{\kappa}_{H} \hat{H}_{R}, \qquad \hat{H}_{L} = \hat{\kappa}_{H} \hat{H}_{L}, \qquad (11)$$

in which

$$\lambda_{H} = \begin{bmatrix} 1 & & & \\ \frac{1}{\lambda} & & \\ & -\frac{1}{\lambda^{2} E I} \\ & & -\frac{1}{\lambda^{3} E I} \end{bmatrix}, \quad (12) \qquad \qquad \kappa_{H} = \begin{bmatrix} 1 & & & \\ \lambda & & \\ & -\lambda^{2} E I \\ & & & -\lambda^{3} E I \end{bmatrix} \quad (13)$$

and $\hat{\lambda}_H$, $\hat{\kappa}_H$ are obtained by extending the diagonal by one term = 1.



Table 4. Transport Equations

252

J. J. TUMA - G. ALBERTI

STATIC PARAMETERS OF BEAMS ON ELASTIC FOUNDATION

With help of these matrices, Eqs. (6) take the form

$$H_R = \underbrace{\kappa_H \bar{t}_{RL} \lambda_H}_{t_{RL}} H_L + \underbrace{\kappa_H \bar{l}_{RL}}_{l_{RL}}, \qquad H_L = \underbrace{\kappa_H \bar{t}_{LR} \lambda_H}_{t_{LR}} H_R + \underbrace{\kappa_H \bar{l}_{LR}}_{l_{LR}}.$$
(14)

Similarly, Eqs. (7) become

$$\hat{H}_{R} = \underbrace{\hat{\kappa}_{H} \hat{t}_{RL} \hat{\lambda}_{H}}_{\hat{t}_{RL}} \hat{H}_{L}, \qquad \hat{H}_{L} = \underbrace{\hat{\kappa}_{H} \hat{t}_{LR} \hat{\lambda}_{H}}_{\hat{t}_{LR}} \hat{H}_{R}.$$
(15)

Between the absolute, transport matrices holds also the relationship (8).

$$t_{RL}t_{LR} = [I], \qquad \hat{t}_{RL}\hat{t}_{LR} = [I].$$
 (16)

Transport Chain

Once the transport Eqs. (7) are available for a single, straight segment, their extension to the analysis of multisegment beams is accomplished by matrix multiplication.



Fig. 3. Beam i j k l.

Let beam ijkl (Fig. 3), given by its geometry (lengths of segments l_j , l_k , l_l), the moments of inertia in each span (I_j, I_k, I_l) , and the modulus of elasticity E, be loaded by transverse loads, and supported by elastic foundation of modulus k.

Beginning at l, the state vector at k

at j,

$$\hat{H}_k = \hat{t}_{kl} \hat{H}_l, \tag{17a}$$

$$\hat{H}_j = \hat{t}_{jk} \hat{H}_k \tag{17b}$$

and at *i*, $\hat{H}_i = \hat{t}_{ij}\hat{H}_j$. (17c)

 $\hat{t}_{ij}, \hat{t}_{ik}, \hat{t}_{kl}$ are the absolute, transport matrices of the respective spans (Table 4), and $\hat{H}_i, \hat{H}_j, \hat{H}_k, \hat{H}_l$ are the absolute, state vectors at the corresponding stations.

Combining Eqs. (17a, b, c) into one equation by successive substitution,

$$\hat{H}_{i} = \underbrace{\hat{t}_{ij}\hat{t}_{jk}\hat{t}_{kl}}_{\hat{t}_{kl}}\hat{H}_{l}.$$
(17)

253

The result of the chain product in (17) is a new transport matrix \hat{t}_{il} , connecting directly the absolute, state vector \hat{H}_i to the counterpart at l.

$$\underbrace{\bar{t}_{ij}\bar{t}_{jk}\bar{t}_{kl}}_{\hat{t}_{ll}} = \begin{bmatrix}
\frac{1}{l_{\delta,il}} & 0 & 0 & 0 & 0 \\
\frac{l_{\delta,il}}{l_{\delta,il}} & t_{\delta\delta,il} & t_{\delta\Theta,il} & t_{\delta M,il} & t_{\delta V,il} \\
\frac{l_{\Theta,il}}{l_{\Theta,il}} & t_{\Theta\delta,il} & t_{\Theta\Theta,il} & t_{\Theta M,il} & t_{\Theta V,il} \\
\frac{l_{M,il}}{l_{V,il}} & t_{M\delta,il} & t_{M\Theta,il} & t_{MM,il} & t_{MV,il} \\
\frac{l_{V,il}}{l_{V,il}} & t_{V\delta,il} & t_{V\Theta,il} & t_{VM,il} & t_{VV,il}
\end{bmatrix}.$$
(18)

This matrix is characteristic for a given beam, and independent of the end conditions. It is designated as the transport chain, and it may be extended to any number of segments. Since there are always eight boundary values involved $(\delta_i, \theta_i, M_i, V_i, \delta_l, \theta_l, M_l, V_l)$, of which four are known, and four are unknown, four equations are necessary for the solution of a given problem. The transport chain Eq. (17) provides these equations, of which only two must be solved

I une J. Special case	Table	5.	Special	case
-----------------------	-------	----	---------	------



simultaneously. Four typical cases are symbolically solved in Table 5, and the starting equations are identified by \Rightarrow , in each case. The handling of intermediate conditions (mechanical hinges, guides, linear springs, angular springs, linear fixities, angular fixities) developed for ordinary beam transport (9) is applicable here without modification.

Flexibilities

The end flexibility of a straight beam on elastic foundation is defined as the end deformation produced by a unit end cause, or by loads. Since the unite causes are moments and forces, the end deformations are deflections, and slopes, and the point of unit cause is the near, or the far end, sixteen unit cause flexibilities, and four load flexibilities, are required, for the formulation of a member flexibility matrix equation. Because of symmetry, and antisymmetry, only ten constants are necessary.

The derivations of the flexibility matrix follows from equations (6, rows 3, and 4 of Table 4).

$$\bar{\sigma}_R = \bar{l}_{\sigma,RL} + \bar{t}_{\sigma\mathcal{A},RL}\bar{\mathcal{A}}_L + \bar{t}_{\sigma\sigma,RL}\bar{\sigma}_L, \qquad \bar{\sigma}_L = \bar{l}_{\sigma,LR} + \bar{t}_{\sigma\mathcal{A},LR}\bar{\mathcal{A}}_R + \bar{t}_{\sigma\sigma,LR}\bar{\sigma}_R.$$
(19)

As conventional in this case,

$$\Delta_{LR} = -\bar{\Delta}_L, \qquad \Delta_{RL} = \bar{\Delta}_R \tag{20}$$

and with these changes the deflection-slope equations become

$$\begin{aligned}
\Delta_{LR} &= \bar{t}_{\sigma\mathcal{A},RL}^{-1} \bar{t}_{\sigma\sigma,RL} \bar{\sigma}_L - \bar{t}_{\sigma\mathcal{A},RL}^{-1} \bar{\sigma}_R + \bar{t}_{\sigma\mathcal{A},RL}^{-1} \bar{l}_{\sigma,RL}, \\
\Delta_{RL} &= \bar{t}_{\sigma\mathcal{A},LR}^{-1} \bar{\sigma}_L - \bar{t}_{\sigma\mathcal{A},LR}^{-1} \bar{t}_{\sigma\sigma,LR} \bar{\sigma}_R - \bar{t}_{\sigma\mathcal{A},LR}^{-1} \bar{l}_{\sigma,LR}.
\end{aligned} \tag{21}$$

In these equations,

$$\bar{t}_{\sigma\mathcal{A},RL}^{-1} = \frac{1}{4(c^2 - bd)} \begin{bmatrix} -c & d\\ b & -c \end{bmatrix}, \qquad \bar{t}_{\sigma\mathcal{A},LR}^{-1} = \frac{1}{4(c^2 - bd)} \begin{bmatrix} -c & -d\\ -b & -c \end{bmatrix}$$
(22)

and $\bar{t}_{\sigma\sigma,RL}$, $\bar{t}_{\sigma\sigma,LR}$, $\bar{l}_{\sigma,RL}$, $\bar{l}_{\sigma,LR}$ are submatrices defined in Table 4.

The algebraic evaluation of Eqs. (21) is shown in Table 6, and recorded in rearranged form below.

$$\begin{bmatrix} \delta_{LR} \\ \delta_{RL} \\ \Theta_{LR} \\ \Theta_{RL} \end{bmatrix} = \begin{bmatrix} E_{LL} & E_{LR} & G_{LL} & G_{LR} \\ E_{RL} & E_{RR} & G_{RL} & G_{RR} \\ -G_{LL} & G_{LR} & F_{LL} & F_{LR} \\ G_{RL} & -G_{RR} & F_{RL} & F_{RR} \end{bmatrix} \begin{bmatrix} V_L \\ V_R \\ M_L \\ M_R \end{bmatrix} + \begin{bmatrix} \epsilon_{LR} \\ \epsilon_{RL} \\ \tau_{LR} \\ \tau_{RL} \end{bmatrix}.$$
(23)

Eqs. (23) define analytically the end deformation (in the flexibility sign convention), and consequently are also equations of respective elastic weights.

(4	ce	ø	сg	- g	cf	ŧ				
(3)	$\frac{l^3}{E J} \frac{\cosh\left(\bar{\lambda}\right) \sin\left(\bar{\lambda}\right) - \sinh\left(\bar{\lambda}\right) \cos\left(\bar{\lambda}\right)}{\bar{\lambda}^3 \gamma}$	$rac{l^3}{EJ} \; rac{\mathrm{sinh}\left(2ar{\lambda} ight) - \mathrm{sin}\left(2ar{\lambda} ight)}{2ar{\lambda}^3\gamma}$	$rac{l^2}{EJ} rac{-2\sinh{(ar{\lambda})}\sin{(ar{\lambda})}}{ar{\lambda}^2 \gamma}$	$rac{l^2}{E J} rac{- \cosh \left(2 ar{\lambda} ight) + \cos \left(2 ar{\lambda} ight)}{2 ar{\lambda}^2 \gamma}$	$\frac{l}{EJ} \frac{2\left[\cosh\left(\bar{\lambda}\right)\sin\left(\bar{\lambda}\right) + \sinh\left(\bar{\lambda}\right)\cos\left(\bar{\lambda}\right)\right]}{\bar{\lambda}\gamma}$	$\frac{l}{EJ} \frac{-\sinh\left(2\bar{\lambda}\right) - \sin\left(2\bar{\lambda}\right)}{\bar{\lambda}\gamma}$		$\bar{\lambda} = \lambda l$	$\alpha = 4 (c^2 - b d)$ $\gamma = 4 \alpha = \cosh(2\bar{\lambda}) + \cos(2\bar{\lambda}) - 2$	
(2)	$\frac{l^3}{EJ}\frac{d}{\lambda^3\alpha}$	$rac{l^3}{EJ}rac{(bc-ad)}{ar\lambda^3lpha}$	$rac{-l^2}{EJ}rac{c}{\lambda^2lpha}$	$\frac{-l^2}{E J} \frac{(a c + 4 d^2)}{\overline{\lambda}^2 \alpha}$	$rac{l}{EJ}rac{b}{ar{\lambda}lpha}$	$\frac{-l}{EJ} \frac{(ab+4cd)}{\bar{\lambda}\alpha}$	$\cos{(\bar{\lambda})}] \bar{L}''_{RL}$	is $(ar{\lambda})]ar{L}''_{LR}$	$\ln \left(ar{\lambda} ight) ar{L}_{RL}^{''}$	${f n}\left(ar{\lambda} ight)ar{L}_{LR}^{''}\}$
(1)	E_{LR}	E_{RR}	G_{LR}	G_{RR}	F_{LR}	F_{RR}	$nh(\bar{\lambda})$	т (<u>λ</u>) со	$\ln (ar{\lambda})$ si	h $(\bar{\lambda})$ si
(4)	v	00	g	- cg	ţ	cf	$(\bar{\lambda}) - s_{\bar{i}}$	– sinł	-sin	k + sin
									-	
(3)	$\frac{l^3}{E J} \frac{\sinh\left(2\bar{\lambda}\right) - \sin\left(2\bar{\lambda}\right)}{2\bar{\lambda}^3 \gamma}$	$\frac{l^3}{E J} \frac{\cosh\left(\bar{\lambda}\right) \sin\left(\bar{\lambda}\right) - \sinh\left(\bar{\lambda}\right) \cos\left(\bar{\lambda}\right)}{\bar{\lambda}^3 \gamma}$	$rac{l^2}{E J} \; rac{\cosh\left(2\overline{\lambda} ight) - \cos\left(2\overline{\lambda} ight)}{2\overline{\lambda}^2 \gamma}$	$rac{l^2}{EJ} rac{2\sinh{\left(ar{\lambda} ight)}\sinh{\left(ar{\lambda} ight)}\sin{\left(ar{\lambda} ight)}}{ar{\lambda}^2\gamma}$	$\frac{l}{EJ} \frac{-\sinh\left(2\bar{\lambda}\right) - \sin\left(2\bar{\lambda}\right)}{\bar{\lambda}\gamma}$	$\frac{l}{EJ} \frac{2\left[\cosh\left(\bar{\lambda}\right)\sin\left(\bar{\lambda}\right) + \sinh\left(\bar{\lambda}\right)\cos\left(\bar{\lambda}\right)\right]}{\bar{\lambda}\gamma}$	$rac{1}{\gamma}\{-2\sinh{(ar{\lambda})}\sin{(ar{\lambda})}\ ar{L}_{RL}^{\prime}+[\cosh{(ar{\lambda})}\sin{(ar{\lambda})}\sin{(ar{\lambda})}]$	$\frac{1}{\gamma} \{ 2 \sinh{(\bar{\lambda})} \sin{(\bar{\lambda})} \bar{L}_{LR}^{\prime} + [\cosh{(\bar{\lambda})} \sin{(\bar{\lambda})} $	$\frac{2\bar{\lambda}}{l\gamma}\{\left[\cosh\left(\bar{\lambda}\right)\sin\left(\bar{\lambda}\right)+\sinh\left(\bar{\lambda}\right)\cos\left(\bar{\lambda}\right)\right]\bar{L}_{R}^{n}$	$\frac{2\bar{\lambda}}{l\gamma} \{ [\cosh{(\bar{\lambda})}\sin{(\bar{\lambda})} + \sinh{(\bar{\lambda})}\cos{(\bar{\lambda})}] \bar{L}_{L_1}$
(2) (3)	$\frac{l^3}{EJ} \frac{(bc-ad)}{\overline{\lambda}^3 \alpha} \frac{l^3}{EJ} \frac{\sinh{(2\bar{\lambda})} - \sin{(2\bar{\lambda})}}{2\bar{\lambda}^3 \gamma}$	$\frac{l^3}{E J} \frac{d}{\bar{\lambda}^3 \alpha} \frac{l^3}{E J} \frac{\cosh(\bar{\lambda}) \sin(\bar{\lambda}) - \sinh(\bar{\lambda}) \cos(\bar{\lambda})}{\bar{\lambda}^3 \gamma}$	$\frac{l^2}{EJ} \frac{(ac+4d^2)}{\bar{\lambda}^2 \alpha} \frac{l^2}{EJ} \frac{\cosh(2\bar{\lambda}) - \cos(2\bar{\lambda})}{2\bar{\lambda}^2 \gamma}$	$rac{l^2}{EJ} rac{c}{ar{\lambda}^2 lpha} \qquad rac{l^2}{EJ} rac{2\sinh{ar{(\lambda)}}\sin{ar{(\lambda)}}}{EJ}$	$\frac{-l}{EJ} \frac{(ab+4cd)}{\bar{\lambda}\alpha} \frac{l}{EJ} \frac{-\sinh(2\bar{\lambda}) - \sin(2\bar{\lambda})}{\bar{\lambda}\gamma}$	$\frac{l}{EJ}\frac{b}{\bar{\lambda}\alpha} \qquad \frac{l}{EJ}\frac{2\left[\cosh\left(\bar{\lambda}\right)\sin\left(\bar{\lambda}\right)+\sinh\left(\bar{\lambda}\right)\cos\left(\bar{\lambda}\right)\right]}{\bar{\lambda}\gamma}$	$\frac{-c\bar{L}_{RL}^{\prime}+d\bar{L}_{RL}^{\prime\prime}}{\alpha} \left \frac{1}{\gamma} \{-2\sinh\left(\bar{\lambda}\right)\sin\left(\bar{\lambda}\right)\bar{L}_{RL}^{\prime}+\left[\cosh\left(\bar{\lambda}\right)\sin\left(\bar{\lambda}\right)\right] \right $	$\frac{c\bar{L}_{LR}^{\prime}+d\bar{L}_{LR}^{\prime\prime}}{\alpha} \frac{1}{\gamma}\{2\sinh\left(\bar{\lambda}\right)\sin\left(\bar{\lambda}\right)\bar{L}_{LR}^{\prime}+\left[\cosh\left(\bar{\lambda}\right)\sin\left(\bar{\lambda}\right)\right]$	$\frac{\overline{\lambda}(b\overline{L}_{RL}^{\prime\prime}-c\overline{L}_{RL}^{\prime\prime\prime})}{l\alpha} \left \begin{array}{c} 2\overline{\lambda}\\ \overline{l\gamma}\left\{ \left[\cosh\left(\overline{\lambda}\right)\sin\left(\overline{\lambda}\right)+\sinh\left(\overline{\lambda}\right)\cos\left(\overline{\lambda}\right)\right]\overline{L}_{R}^{\prime\prime} \right\} \right.$	$\frac{\overline{\lambda} \left(b \ \overline{L}_{LR}^{\sigma} + c \ \overline{L}_{RR}^{m} \right)}{l \alpha} \left \frac{2 \overline{\lambda}}{l \gamma} \left\{ \left[\cosh\left(\overline{\lambda}\right) \sin\left(\overline{\lambda}\right) + \sinh\left(\overline{\lambda}\right) \cos\left(\overline{\lambda}\right) \right] \overline{L}_{L}^{\sigma} \right\}$

Table 6. Flexibilities

256

J. J. TUMA - G. ALBERTI

From Table 6, the following identities are observed:

$$\begin{split} E_{LL} &= & E_{RR} = e \,, & E_{LR} = & E_{RL} = c \, e \,, \\ G_{LL} &= & -G_{RR} = g \,, & (24 \, \mathrm{a}) & G_{LR} = & -G_{RL} = c \, g \,, & (24 \, \mathrm{b}) \\ F_{LL} &= & F_{RR} = f \,. & F_{LR} = & F_{RL} = c \, f \,. \end{split}$$

Constants e, g, f are the near, end flexibilities, whereas c e, c g, c f are the far, end flexibilities (or sometimes called carry-over flexibilities). Constants $\epsilon_{LR}, \epsilon_{RL}, \tau_{LR}, \tau_{RL}$ are the end deformations, caused by loads.

Eqs. (23), in observance of identities (24a, b), yield a new relationship of G-matrices.

$$\begin{bmatrix} \delta_{(LR)} \\ \hline \Theta_{(LR)} \end{bmatrix} = \begin{bmatrix} E_{(LR)} \\ \hline -G_{(LR)}^* \\ \hline F_{(LR)} \end{bmatrix} \begin{bmatrix} V_{(LR)} \\ \hline M_{(LR)} \end{bmatrix} + \begin{bmatrix} \epsilon_{(LR)} \\ \hline \tau_{(LR)} \end{bmatrix}.$$
(25)

Flexibility Chain

Once the flexibility matrix (25) is available for a single segment, the analysis of multi-segment bars is accomplished by chain overlapping.

Considering the beam i j k l (Fig. 3), the continuity at j (any station) requires that,

$$\begin{aligned} \delta_{ji} + \delta_{jk} &= 0, \\ \theta_{ji} + \theta_{jk} &= 0. \end{aligned} \tag{26}$$

With notation (23), and new equivalents:

 $\sum E_{jj}; \sum G_{jj}; \sum F_{jj}; \sum \epsilon_j; \sum \tau_j$

designating the sum of the respective, near end flexibilities and load flexibilities at j, the compatibility Eqs. (26) become typical joint, force-moment equations.

$$\begin{cases}
E_{ji} V_i + \sum E_{jj} V_j + E_{jk} V_k \\
G_{ji} M_i + \sum G_{jj} M_j + G_{jk} M_k
\end{cases} + \sum \epsilon_j = 0,$$

$$\begin{cases}
G_{ji} V_i - \sum G_{jj} V_j + G_{jk} V_k \\
F_{ji} M_i + \sum F_{jj} M_j + F_{jk} M_k
\end{cases} + \sum \tau_j = 0.$$
(27)

Eqs. (27) have a general meaning, and are used as recurrence formulas.

With end conditions to be discussed later, the complete joint force-moment matrix takes the form shown in Table 7.

In symbolic form

$$\sum \Delta_{i-l} = \varphi_{\Delta\sigma, i-l} \sigma_{i-l} + \sum \eta_{i-l} = 0.$$
⁽²⁸⁾



Table 7. Joint Force-Moment Matrix

It is interesting to observe that $\varphi_{\Delta\sigma,i-l}$ is formed by four matrix chains, layed out diagonally like a deck of cards, with overlapping corners.



Matrices $\sum \Delta_{i-l}$, $\sum \eta_{i-l}$ are formed by column matrix chains, layed out vertically like a deck of cards, with half length overlapping.

Matrix Eq. (28) may be written for any number of segments, and is designated as the static flexibility chain.

Four typical cases solved symbolically be the transport chain method in Table 5, are also symbolically solved by the flexibility chain in Table 8.



Table 8. Flexibility chain: Special cases

Stiffnesses

The end stiffnesses of a straight beam on elastic foundation is defined as the end reaction produced by a unit deformation or loads. Since the end reactions are forces and moments, the unit deformations are deflections and slopes, and the point of unit deformation is the near, or the far end, sixteen unit cause stiffnesses are required, for the formulation of a member stiffness matrix equation. Because of symmetry, and antisymmetry, only ten constants are necessary. The derivation of the stiffness matrix follows from Eqs. (6, rows 1, and 2 of Table 4).

$$\bar{\mathcal{\Delta}}_{R} = \bar{l}_{\mathcal{A},RL} + \bar{t}_{\mathcal{A}\mathcal{A},RL} \bar{\mathcal{\Delta}}_{L} + \bar{t}_{\mathcal{A}\sigma,RL} \bar{\sigma}_{L},
\bar{\mathcal{A}}_{L} = \bar{l}_{\mathcal{A},LR} + \bar{t}_{\mathcal{A}\mathcal{A},LR} \bar{\mathcal{A}}_{R} + \bar{t}_{\mathcal{A}\sigma,LR} \bar{\sigma}_{R}.$$
(29)

As conventional in this case,

$$\sigma_{LR} = -\bar{\sigma}_L, \qquad \sigma_{RL} = \bar{\sigma}_R \tag{30}$$

and with these changes, the force-moment equations become:

$$\sigma_{LR} = \bar{t}_{\Delta\sigma,RL}^{-1} \bar{t}_{\Delta\Delta,RL} \bar{\mathcal{\Delta}}_L - \bar{t}_{\Delta\sigma,RL}^{-1} \bar{\mathcal{\Delta}}_R + \bar{t}_{\Delta\sigma,RL}^{-1} \bar{l}_{\Delta,RL},$$

$$\sigma_{RL} = \bar{t}_{\Delta\sigma,LR}^{-1} \bar{\mathcal{\Delta}}_L - \bar{t}_{\Delta\sigma,LR}^{-1} \bar{t}_{\Delta\Delta,LR} \bar{\mathcal{\Delta}}_R - \bar{t}_{\Delta\sigma,LR}^{-1} \bar{l}_{\Delta,LR}.$$
(31)

In these equations,

$$\bar{t}_{\Delta\sigma,LR}^{-1} = \frac{1}{(c^2 - b\,d)} \begin{bmatrix} c & d \\ b & c \end{bmatrix}, \qquad \bar{t}_{\Delta\sigma,RL}^{-1} = \frac{1}{(c^2 - b\,d)} \begin{bmatrix} c & -d \\ -b & c \end{bmatrix}$$
(32)

and $\bar{t}_{\Delta\Delta,RL}$, $\bar{t}_{\Delta\Delta,LR}$, $\bar{l}_{\Delta,LR}$, $\bar{l}_{\Delta,LR}$ are submatrices defined in Table 4.

The algebraical evaluation of Eqs. (31) is shown in Table 9, and recorded in rearranged form below.

$$\begin{bmatrix} V_{LR} \\ V_{RL} \\ M_{LR} \\ M_{RL} \end{bmatrix} = \begin{bmatrix} T_{LL} & T_{LR} \\ T_{RL} & T_{RR} \\ -S_{LL} & S_{LR} \\ S_{RL} & -S_{RR} \\ S_{RL} & -S_{RR} \\ K_{RL} & K_{RR} \end{bmatrix} \begin{bmatrix} \delta_L \\ \delta_R \\ \Theta_L \\ \Theta_R \end{bmatrix} + \begin{bmatrix} FV_{LR} \\ FV_{RL} \\ FM_{LR} \\ FM_{RL} \end{bmatrix}.$$
(33)

Eqs. (33) define analytically the end stress-resultants (forces and moments in the stiffness sign convention), and consequently are also the slope-deflection equations.

From the Table 9, the following identities are observed:

Constants t, s, k are the near, end stiffnesses, whereas ct, cs, ck are the far, end stiffnesses (or carry-over stiffnesses). Constants FV_{LR} , FV_{RL} , FM_{LR} , FM_{RL} are the fixed end stress resultants (fixed end forces and fixed end moments), caused by loads.

Eqs. (33), in observance of identities (34a, b), yield a new relationship of S-matrices.

$$\begin{bmatrix} V_{(LR)} \\ M_{(LR)} \end{bmatrix} = \begin{bmatrix} T_{(LR)} & S_{(LR)} \\ -S_{(LR)}^* & K_{(LR)} \end{bmatrix} \begin{bmatrix} \delta_{(LR)} \\ \Theta_{(LR)} \end{bmatrix} + \begin{bmatrix} FV_{(LR)} \\ FM_{(LR)} \end{bmatrix}.$$
(35)

 $\mathbf{260}$

ses
les
ith
St
9.
ble
T^{a}
~ .

	(4)	ct	t	- cs	s 	ck	ĸ	
	(3)	$\frac{EJ}{l^3} \frac{-8\bar{\lambda}^3 \left[\cosh\left(\bar{\lambda}\right)\sin\left(\bar{\lambda}\right) + \sinh\left(\bar{\lambda}\right)\cos\left(\bar{\lambda}\right)\right]}{\gamma}$	$\frac{EJ}{l^3} \frac{4 \bar{\lambda}^3 [\sinh (2 \bar{\lambda}) + \sin (2 \bar{\lambda})]}{\gamma}$	$rac{EJ}{l^2} rac{8ar{\lambda}^2 \sinh{(ar{\lambda})} \sin{(ar{\lambda})}}{\gamma}$	$rac{EJ}{l^2} rac{-2ar{\lambda}^2[\cosh{(2ar{\lambda})} - \cos{(2ar{\lambda})}]}{\gamma}$	$\frac{E J}{l} \frac{-4\bar{\lambda} [\cosh{(\bar{\lambda})} \sin{(\bar{\lambda})} - \sinh{(\bar{\lambda})} \cos{(\bar{\lambda})}]}{\gamma}$	$rac{EJ}{l} rac{-2ar{\lambda} \left[\sinh\left(2ar{\lambda} ight) - \sin\left(2ar{\lambda} ight) ight] }{\gamma}$	$\bar{\lambda} = \lambda l$ $\beta = c^2 - b d$ $\gamma = 16 \beta = \cosh(2\bar{\lambda}) + \cos(2\bar{\lambda}) - 2$
f_{nesses} (1) (2)	$\frac{-EJ}{l^3} \frac{\overline{\lambda^3 b}}{\beta}$	$\frac{EJ}{l^3} \frac{\overline{\lambda^3} \left(a b + 4 c d\right)}{\beta}$	$rac{EJ}{l^2} rac{ar{\lambda}^2 c}{eta}$	$\frac{-EJ}{l^2} \frac{\overline{\lambda^2 (b^2 - a c)}}{\beta}$	$\frac{-EJ}{l} \frac{\bar{\lambda}d}{\beta}$	$\frac{-EJ}{l} \frac{\overline{\lambda}(bc-ad)}{\beta}$	nh $(\bar{\lambda}) \sin(\bar{\lambda}) \overline{L}_{RL}$ nh $(\bar{\lambda}) \sin(\bar{\lambda}) \overline{L}_{LR}$ $i(\bar{\lambda}) \cos(\bar{\lambda})] \overline{L}_{RL}$ inh $(\bar{\lambda}) \cos(\bar{\lambda})] \overline{L}_{LR}$	
	(1)	T_{LR}	T_{RR}	S_{LR}	S_{RR}	K_{LR}	K_{RR}	2L - si 2R + si - sint $(\bar{\lambda}) - s$
. Sti	(4)	4	ct	S	CS	k	ck	$\int \bar{L}_{I} \bar{L}_{I} = \int \left(\bar{\lambda} \right) \int \bar{L}_{I} = \int \bar{L}_$
Table 9.	(3)	$\frac{EJ}{l^3} \frac{4 \bar{\lambda}^3 [\sinh{(2\bar{\lambda})} + \sin{(2\bar{\lambda})}]}{\gamma}$	$\frac{EJ}{l^3} = \frac{8\bar{\lambda}^3 \left[\cosh\left(\bar{\lambda}\right)\sin\left(\bar{\lambda}\right) + \sinh\left(\bar{\lambda}\right)\cos\left(\bar{\lambda}\right)\right]}{\gamma}$	$rac{EJ}{l^2} \; rac{2ar\lambda^2[\cosh{(2ar\lambda)} - \cos{(2ar\lambda)}]}{\gamma}$	$rac{EJ}{l^2} rac{-8ar{\lambda}^2\sinh{(ar{\lambda})}\sin{(ar{\lambda})}}{\gamma}$	$\frac{EJ}{l} \frac{-2\bar{\lambda}[\sinh{(2\bar{\lambda})} - \sin{(2\bar{\lambda})}]}{\gamma}$	$\frac{EJ}{l} = \frac{4\bar{\lambda} [\cosh(\bar{\lambda})\sin(\bar{\lambda}) - \sinh(\bar{\lambda})\cos(\bar{\lambda})]}{\gamma}$	$\frac{EJ}{l^3} \frac{-8\bar{\lambda}^3}{\gamma} \{ [\cosh(\bar{\lambda})\sin(\bar{\lambda}) + \sinh(\bar{\lambda})\cos(\bar{\lambda}) \\ \frac{EJ}{l^3} \frac{-8\bar{\lambda}^3}{\gamma} \{ [\cosh(\bar{\lambda})\sin(\bar{\lambda}) + \sinh(\bar{\lambda})\cos(\bar{\lambda}) \\ \frac{EJ}{l^2} \frac{4\bar{\lambda}^2}{\gamma} \{ 2\sinh(\bar{\lambda})\sin(\bar{\lambda})\bar{L}_{RL} - [\cosh(\bar{\lambda})\sin(\bar{\lambda})\sin(\bar{\lambda}) \\ \frac{EJ}{l} \frac{-4\bar{\lambda}^2}{\gamma} \{ 2\sinh(\bar{\lambda})\sin(\bar{\lambda})\sin(\bar{\lambda})\bar{L}_{LR} - [\cosh(\bar{\lambda})\sin(\bar{\lambda})\sin(\bar{\lambda})] \} $
	(2)	$\frac{EJ}{l^3} \frac{\overline{\lambda^3}(ab+4cd)}{\beta}$	$\frac{-EJ}{l^3} \frac{\overline{\lambda^3 b}}{\beta}$	$\frac{E J}{l^2} \frac{\overline{\lambda}^2 \left(b^2 - a c\right)}{\beta}$	$rac{-EJ}{l^2} rac{ar{\lambda}^2 c}{eta}$	$\frac{-EJ}{l} \frac{\overline{\lambda} (b c - a d)}{\beta}$	$-EJ {l\over l} {\bar\lambda d\over eta}$	$ \frac{-EJ}{l^{3}} \frac{\overline{\lambda}^{3} (b \overline{L}_{RL} - c \overline{L}'_{RL})}{\beta} \\ \frac{-EJ}{l^{3}} \frac{\overline{\lambda}^{3} (b \overline{L}_{LR} + c \overline{L}'_{LR})}{\beta} \\ \frac{EJ}{l^{2}} \frac{\overline{\lambda}^{3} (c \overline{L}_{RL} - d \overline{L}'_{RL})}{\beta} \\ \frac{-EJ}{l^{2}} \frac{\overline{\lambda}^{2} (c \overline{L}_{RL} - d \overline{L}'_{RL})}{\beta} $
	(1)	T_{LL}	T_{RL}	S_{LL}	S_{RL}	K_{LL}	K_{RL}	F V _{LR} F V _{RL} F M _{LR} F M _{RL}

Stiffness Chain

Once the stiffness matrix (35) is available for a single segment, the analysis of multi-segment bars is accomplished by chain overlapping.

Considering again the bar ijkl (Fig. 3), the static equilibrium at j (any station) requires that,

$$V_{ji} + V_{jk} = 0, M_{ji} + M_{jk} = 0$$
(36)

with notation (33), and new equivalents:

$$\sum T_{jj}; \sum S_{jj}; \sum K_{jj}; \sum F V_j; \sum F M_j$$

designating the sum of the respective, near, end stiffnesses and stiffness load functions at j, the equilibrium Eqs. (36) become typical joint, deflection-slope equations.

$$\begin{cases}
T_{ji}\delta_{i} + \sum T_{jj}\delta_{j} + T_{jk}\delta_{k} \\
S_{ji}\Theta_{i} + \sum S_{jj}\Theta_{j} + S_{jk}\Theta_{k}
\end{cases} + \sum FV_{j} = 0, \\
\begin{cases}
S_{ji}\delta_{i} - \sum S_{jj}\delta_{j} + S_{jk}\delta_{k} \\
K_{ji}\Theta_{i} + \sum K_{jj}\Theta_{j} + K_{jk}\Theta_{k}
\end{cases} + \sum FM_{j} = 0.
\end{cases}$$
(37)

Eqs. (37) have a general meaning, and are used as recurrence formulas.

With end conditions to be discussed later, the complete joint deflectionsslope matrix takes the form shown in Table 10.

Table 10. Joint Deflection-Slope Matrix

		T_{ii}	T_{ij}			S_{ii}	S_{ij}			δ_i		$F V_{ij}$	
0		T_{ji}	$\sum T_{jj}$	T_{jk}		S_{ji}	$\sum S_{jj}$	S_{jk}		δj		$\sum F V_j$	
0			T_{kj}	$\sum T_{kk}$	T_{kl}		S_{kj}	$\sum S_{kk}$	S _{kl}	δ_k		$\sum F V_k$	
Vik		-		T_{lk}	T_{ll}			S_{lk}	S_{ll}	δι		$F V_{lk}$	
 <i>M</i> _{ij}	=	$-S_{ii}$	S_{ij}			K_{ii}	K_{ij}			$\overline{\Theta_i}$	+	FM_{ij}	
0		S_{ji}	$-\sum S_{jj}$	S_{jk}		K_{ji}	$\sum K_{jj}$	K_{jk}		Θ_j		$\sum F M_{j}$	
0		·	S_{kj}	$-\sum S_{kk}$	S_{kl}		K_{kj}	$\sum K_{kk}$	K_{kl}	Θ_k		$\sum F M_k$	
M_{lk}		-		S_{lk}	$-S_{ll}$			K_{lk}	K_{ll}	Θ_l			
$\begin{bmatrix} \sum V_{i-l} \end{bmatrix}$	=	_ _ 	7	¶i−l			S_{i}	i – l]	$\left[\frac{\delta_{i-l}}{-} \right]$	T +	$\sum F V_{i-l}$	1
$\sum M_{i-l}$		L_	$-S_{i-l}^*$			F_{i-l}			$\Box \Theta_{i-l}$		$\sum F M_{i-l}$		
				$\sum \sigma_{i-l}] =$	[ΓσΔ, i	_ı][∠	$ _{i-l}] + [$	$\sum F \sigma_{i}$	-1]				

In symbolic form,

$$\sum \sigma_{i-l} = \Gamma_{\sigma \Delta, i-l} \Delta_{i-l} + \sum F \sigma_{i-l} = 0.$$
(38)

It is interesting to observe, that $\Gamma_{\sigma\Delta,i-l}$ is formed by four matrix chains, layed out diagonally, like a deck of cards, with overlapping corners.



Matrices $\sum \sigma_{i-l}$, $\sum F \sigma_{i-l}$ are formed by column matrix chains, layed out vertically like a deck of cards, with half length overlapping.

Matrix Eq. (38) may be written for any number of segments, and is designated as the static, stiffness chain.

Four typical cases solved symbolically by the transport chain method in Table 5, by the flexibility chain method in Table 8, are also symbolically solved by the stiffness chain method in Table 11.

Keywords

Beam; elastic foundation; matrix analysis; transport matrix; flexibility matrix; stiffness matrix; structural engineering.

Acknowledgment

The authors express their gratitude to Prof. B. Thürlimann, who allowed this paper to be prepared during the sabbatical year of Prof. J. J. Tuma at the Institute of Structural Division, Department of Civil Engineering, SFIT, Zurich.

Bibliographie

- 1. WINKLER, E.: Die Lehre von Elastizität und Festigkeit, Prag 1867.
- 2. ZIMMERMANN, H.: Die Berechnung des Eisenbahnoberbaues, Berlin 1888.
- 3. SCHWEDLER, J. W.: Beiträge zur Theorie des Eisenbahnoberbaues, Z. Bauverw., 1889, p. 86.
- 4. HAYASHI, K.: Theorie des Trägers auf elastischer Unterlage, Berlin 1921, p. 21.

- 5. HAYASHI, K.: Sieben- und mehrstellige Tafeln der Kreis- und Hyperbelfunktionen und deren Produkte sowie der Gammafunktionen, Berlin 1926.
- UMANSKY, A. A.: Analysis of Beams on Elastic Foundation, Central Research Institute of Auto-Transportation (Leningrad, 1933).
 Idem: Special Course in Structural Mechanics, General Redaction of Literature of Building (Leningrad-Moscow, 1935), Part I. (These publications contain also bibliographics of earlier Russian works.)
- 7. FILONENKO-BORODIC, M. M.: Soprotivlenije materialov (2. vyd., 1940, p. 540-554).
- 8. HETENEY, M.: Beam on Elastic Foundation, University of Michigan Press, Ann Arbor, 1946.
- 9. PESTEL, E. and LECKIE, F.: Matrix Methods in Elasto-Statics, New York, 1963.
- 10. KERSTEN, R. and FALK, S.: Reduktionsverfahren der Baustatik, Berlin 1962.
- 11. PETERSEN, C.: Das Verfahren der Übertragungsmatrizen (Reduktionsverfahren) für den kontinuierlich elastisch gebetteten Träger, Bautechnik 3/1965, p. 87–89.
- 12. BAŽANT, Z.: Nauka o Pružnosti a Pevnosti, Technický Pruvodce, Vol. 3, Prague 1955, p. 112.
- 13. MIRANDA C. and NAIR K.: Finite Beams on Elastic Foundation, Journ. of the Struct. Div., ASCE, Vol. 92, St. 2, Proc. Paper 4778, April 1966, p. 131–142.

Summary

Three general solutions are given in matrix form for the analysis of beams on elastic foundation. From the transport matrix formed by the static parameters of a single bar, the transport chain, the flexibility chain, and the stiffness chain methods are developed and applied to the solution of particular cases. The study is restricted to coplanar systems, consisting of straight members, acted upon by transverse loads, and deforming elastically.

Résumé

On donne pour l'étude des poutres sur appui élastique trois solutions générales mises sous forme de matrices. A partir de la matrice de transport formée par les paramètres statiques d'une barre simple, les méthodes de la chaîne de transport, de la chaîne de fléxibilité et de la chaîne de rigidité sont développées et appliquées à la solution de cas particuliers. L'étude est restreinte aux systèmes coplanaires composés de pièces droites, solicités par des charges transversales et déformées élastiquement.

Zusammenfassung

Drei generelle Lösungen in genereller Matrixform sind für die Analysis von Balken auf elastischer Unterlage gegeben.

Ausgehend von der Übertragungsmatrix, gebildet von den statischen Parametern eines einzelnen Balkens wird die Übertragungs-, die Flexibilitätsund die Steifigkeitskettenmethode entwickelt und auf Spezialfälle angewendet. Die Untersuchung ist beschränkt auf elastisch verformbare ebene, aus geraden Stäben gebildeten Systeme, die senkrecht zu ihrer Achse belastet werden.